FPEACER X6 2024/8/25 EHT7—Fz)—15

=AM

B[R4 Bl 50m 50m =1 10 X
1XE {8 [EFEH 314 339 653 24 11
2018 BE= |BHME 335 317 652 25 8
3| & Kith |BINSHT 306 301 607 14 2
AR B |BHNE 283 311 594 15 3
5|EH5 =M |BHE 303 290 593 4 3
61T A B |[RRR 303 288 591 11 4
WAL E KRBT 296 294 590 7 5
8|FE A AT 240 282 522 7 4

RiE |ER X& |RBT 0 0 0 0 0

aAVINOUREF

B K4 il 50m 50m =51l 10 X
1ZER #L£F [BHE 330 336 666 29 11
21kE ER |BRE 313 316 629 21 7
3FE HE |HAM 305 297 602 17 4
41t8H RF | KR 266 264 530 6 2

YHh—JBF

B[R4 Bl 70m 70m =1 10 X
1&HF FF |[REHXE 334 330 664 18 10
2|5 H BA |REHKRE 329 327 656 26 11
3| BE KXY |REMXRE 320 325 645 30 9
4188 BBARER EEXE 319 321 640 21 7
5/ JkiE |EEKEFE 326 313 639 19 4
6|l T7hoL SR EEKE 322 316 638 21 6
RO KiF [IEgKFE 319 316 635 19 5
8| KiE [EX |HER 316 317 633 16 2
ot BE pEEXEFE 311 321 632 21 8
10%H £ [AgXE 310 319 629 17 8
1|EH FER DEgXE 317 309 626 16 3
12| 8 #2LER|ZMEERF 312 306 618 16 6
13| KK & |BEMEEXEXF 299 316 615 18 4
14|08 BE |BHMEEKRF 305 309 614 15 3
15|5F X [AHEXFE 309 303 612 17 4
16| KIE {68 [ K=E 295 312 607 16 4
17/MNEIR RIE|FBHE 312 292 604 10 7
18|=M =l |REHXE 295 304 599 8 2
191 #E3 [RISHXE 299 289 588 12 4
20|=’H #F |ASHKE 278 303 581 14 3
21|FHH B |RBH 283 283 566 11 3
22|iRED BEX |BREE 280 277 557 7 3
23|ARER iR |BREEKXF 267 282 549 8 3
24| B8 BhRR |RISHERE 255 282 537 4 1
25([KFE Bz |EMEERFE 251 276 527 5 2
26|3EIE i |BREEXRF 254 266 520 7 1
27| tH Bz |EBE 250 251 501 6 1
28| EAR #KE | KFELUT 247 251 498 7 1
29|kE B |EEEK 252 227 479 3 1
30|—fE ¥RER |mERAT 234 231 465 5 0
3R EH |HEEE 308 105 413 5 2

EE | UK |BREEXRF 0 0 0 0 0

Rim |[EH 2 |[AEHXE 0 0 0 0 0




FPEACER X6 2024/8/25 EHT7—Fz)—15

Yh—T&F

B K4 il 70m 70m =51l 10 X
FHES 25| BHEEXRFE 315 320 635 18 3
21880 CCA [SE®KRE 314 317 631 13 5
M BEE  |AESHXKE 316 311 627 14 4
4|[FE BE |BERKEFE 310 313 623 16 3
5|8k Kb |RIEHKRE 305 312 617 16 6
6|HiE DIEH|BHEEKRS 309 307 616 17 5
7|f&f $% |FASHXE 293 295 588 8 13
8| L5 EHEARAMT 293 290 583 8 2
9H% IKFE |HER 297 280 577 7 1
10|88 BBE |BEER 290 274 564 10 3
1MixA 2 |REfXE 274 287 561 11 6
12217 @ |RSHXKE 274 283 557 6 2
131 X£F |ERE 277 279 556 5 2
14|=8 £ | REFE 272 270 542 11 5
15|88 =g£|IKRE 265 250 515 1 1
16| i |ERFE 219 266 485 7 1
171248 DI | EREKR 209 170 379 3 0
18|FE #H |REEK 193 184 377 5 1

Rz |RE EBE |REEK 0 0 0 0 0

RN7RYVBEF

B K4 il 50m 50m =51l 10 X
1fEH ZFIL [ KBRAF 276 279 555 6 0
2|5nRE BEYE | RARAT 278 267 545 7 2
€M =¥ |EBRW 271 261 532 7 1
A|ZAH HH |IKRBE 238 256 494 7 0
5E%E & |REW 221 199 420 1 0
6|t8H EA |ERW 190 189 379 2 0

K5 |EEF iz |EERAT 0 0 0 0 0

R7RIZF

B[R4 Bl 50m 50m =1 10 X
2L #X [BEXNE 237 256 493 3 0

U—18Uh—JBF

B | K4 g 60m 60m = 10 X
1|4H BER [REFEHZE 259 246 505 2 1
20BF % |REFEG¥ 249 250 499 3 1

Ri5 |IEA &t |[ERFEFFE 0 0 0 0 0

U—18Jh—J%F

B | K4 g 60m 60m = 10 X
1|Ah #ZE [ZER 309 308 617 11 4

YHh—T BFDKR

B | K4 g 30m 30m = 10 X
1|FE #E& [REFEHZE 301 301 602 19 4
2|BK % |ERZESF 285 302 587 14 7

YH—TZFHk

B | K4 i 30m 30m =5 10 X
1|28 FiL [REFEGZE 222 178 400 6 3




